Rl
K0
040
OH

g Xl14

=

i =

i}
[==)

[§

S |
XH
19724

=2

H=

0

2H

N

N

=
—

PN,

| Al =
® JIz4Ex e

=)

00
10
il

ol
040
OH
o

=8

(1) JISAtge

o0

=
=
-/

Ol 214

=
[

=D

=

=
-/

otod €8= Hl

b

(6]
!

L

2
(=]

NE)

cC ==
— o=
k=3

E
HE +

?.

—

2, 9
HIE,

o
—

=

3

2
o

s
| Ab=

=
T

, o
S0

b =

S =

INgs]

S=2

H=2
H=2

0
0

XH
XH

(2) 20129 J|I2AMY MR

040
OH
ok

0
Kq
Mo

00
3.

=

]

17,738,914

o

X0
Kd
LH

A

2012¢

KI0

A25,090

629,000

ol

<+

603,910

17,764,004

teldls HE S0l +=¢

Sk
=

==
(=]

al
=

2 38 S XA 2

a

o
TJ
il

iy



Ol XH2I (12! 12 6,000&, 7&2t)

0l
ol
i
TS
=

-

<0

S
el

)

%
ofE &2 OIMYUGAH KNS ==t 4

A&ZI(1AITH 1,000,000

0l
ol

i

==
1o

=
=
=

X ol =2

Hs2X HIS -

=
EH S,

XH

AITH

ol
Ho
<0
<

o

al

|.

ol
ol
i
)
=

ol

-

<0

3
K0

Ie]

ol

-
1o

of

AL
(=]

o
=

2 CH

(4) X



2. == H=

SAHEE @ 20124

Ol &FXb== 0 S0l &t

JAHAFZ  MolH=2ZI13

ONPNI=E-DNE=F=, (Cho|: :2)

= & Al E N £ Al g
E = HEH =N = g o s & E = dE =X =N A = A =

2 Al 630,703 1,141,914 511,211 & Al 630,703 1,141,914 511,211
= %l = 0|2 &= = & At & bl 457,000 442,000 A 15,000
Sl ES = 0 0 0| & N = 0 0 0
Xt & = 0 0 ojer # =2 & 0 0 0
R T e 0 0 0f 21 = & a] 0 187,000 187,000
o & = o & = 0 0 O Ol & = 0 300,000 300,000
o X = 3 = 21,558 538,004 516,446 | Ol N = 173,703 212,914 39,211
Ol = = 0 0 O|Xt & & 2l = & & 0 0 0
ol A= g 609, 145 603,910 NE23B/ |l ==& S aE 0 0 0
) B = g 0 0 0f 21 S N 0 0 0




AHAEE @ 20124
Ol & Xk 0 20l &t
A2 0 Mol=2=J1=

@ += (2@ el)
Zop-g-o= f;;j;i; % o o =z 2 & B
200 AI2l==¢ 609, 145 603,910 Ab5,235
210 B HAM = 1,000 1,000 0
216 Ol Xt==¢ 1,000 1,000 0
216-01 S0 =01kt 1,000 1,000 0
o= 0l Rt==¢ = 1,000
220 SAIEA = 608, 145 602,910 N5,235
225 fle8=sH == 608, 145 602,910 N5,235
225-03 OI& =0l Xt==g 608, 145 602,910 Ab5,235
Osg2ellIsuHE 30l 4=
17,226,000,000& *3.5% = 602,910
600 X&KL MK =2l 21,558 538,004 516,446
630 Ol Xl 23l 21,558 538,004 516,446
631 OIXl=2l = 21,558 538,004 516,446
631-01 OiIXl=al=+ 21,558 538,004 516,446
DU Xl =&l == = 538,004
= 2 g A 630,703 1,141,914 511,211




1201249

=10 (R
Mok RE0I12
s CHo A )
zx .22 LTS - IR ANY - B HEC XS X| & o el
630,703 1,141,914 511,211
Enp R PNy 457,000 629,000 172,000
Ste & 457,000 629,000 172,000
SAS (Mol RS I12) 457,000 629,000 172,000
+S25KNE 184,000 187,000 3,000
1 dEtE | 184,000 187,000 3,000
01 AtR22lHl 187,000 184,000 187,000 3,000
ol 2s=25 72X 8,000,000 *23 Al = = 184,000
Mol S HIAZR A2 3,000
Ol MBS HIX& 273,000 442,000 169,000
302 Ol o2 &2 273,000 442,000 169,000
02 CIZIOITHOHE &t = 442,000 273,000 442,000 169,000
L]0 FH Bl 2 S H 200,000
OAa30X& 100,000
Ol 2SS 2SS S MAFP 50,000
(OS2 SHI=sz2I2Y 23,000
OMol S 2AHANRNEZL S A 3,000, 000& #2370 Al = 69,000
HS XA 173,703 512,914 339,211




o
£

3

10

I 22 FHM . O9 - NRAY - HYS rSREL=pIEL pNEL fImE=ET
MRS (A3 =X 173,703 512,914 339,211
WEHAHXIE (M 2SI12) 0 300,000 300,000
sg&2IISHES 0 300,000 300,000
704 &= 0 300,000 300,000
01 OIE= 300,000 0 300,000 300,000
Osg2ellIsuE3 = 300,000
BEXE(MH=3012) 173,703 212,914 39,211
=820 X= 173,703 212,914 39,211
602 Ol Xl= 173,703 212,914 39,211
01 OXl= 212,914 173,703 212,914 39,211
O uxl3 = 212,914
A= g A 630,703 1,141,914 511,211




AHAEE @ 20124
Ol & Xk 0 20l &t
A2 0 Mol=2=J1=

(&)
x5 o g 3 o

e XKFoH
| o |=ea|exa nes | N0 | wes | Ly | Ly | @ SR 08 RN W TR 42 |0
2006 MHXI | 22,804,881( 8,447,700 0 0 0 0| 14,357,181 0] 7,423,650 7,423,650 0 0 0 0 0] 15,381,231
20073 & 896,694 0 0 0 0 0 896,694 0 94,721 94,721 0 0 0 0 0 801,973
20085 &= 680,672 0 0 0 0 0 680,672 0 161,101 161,101 0 0 0 0 0 519,571
200948 &= 577,762 0 0 0 0 0 571,377 6,385 14,161 14,161 0 0 0 0 0 563,601
20108 &= 598,306 0 0 0 0 0 598,306 0 252,823 252,823 0 0 0 0 0 345,483
20118 & 609, 145 0 0 0 0 0 609, 145 0 457,000 457,000 0 0 0 0 0 152,145
20129 & 603,910 0 0 0 0 0 603,910 0 629,000 442,000 0 187,000 0 0 0 25,090
Al 26,771,370 8,447,700 0 0 0 0| 18,317,285 6,385( 9,032,456 | 8,845,456 0 187,000 0 0 0117,738,914




5100 =
WAtRE A E0la
SIAFRZE - Mol2s012
CLEE
o
2= Ol XI(EH X H D
H 00MECLSETHHE@ She= DU ) L (@-®@)

2 A A 25,090
Ol Xl = 2 A A 325,090

=5 A 325,090
OlE= A 300,000

ghaedl 2 300,000

O




